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DUMPSQUEEN

QUESTION NO: 1

One content package of a custom application contains the following content paths.

/apps/myproj/install
/apps/myproj/components
/apps/myproj/ilén

The serveralso contains the content path /apps/myproj/configuration that must NOT be touched when installing the package.

Which two filter definitions should a developer use to always update only the contained paths upon installation in the server?
(Choose two.)

A
<filter root="/apps/myproj”>
<axclude pattern="configquration.*"/>
</filter>
B
<filter root="/apps/myproj”>
<include pattern=".+*"/>
<eaxclude pattern="configquraticn.*"/>
</filter>
C
<filter root="{apps/myproj®>
<exclude pattern="/apps/myproj/configuration.*" />
</ filter>
D
<filter root="fappsa/myproj”™ mode="merge">
E

<filter root="/apps/myproi”>
<include pattern="/apps/myproj/ (in=tall|components|il8n) .%¥"/>
</filter>
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

ANSWER: CD

QUESTION NO: 2

A banking AEM application contains functionality to calculate a mortgage rate based on user input. A servlet in place
calculates the result in the backend. A call to an internal thirdparty REST service is required to retrieve the average object
value based on a given zip code.

The following three service interfaces are used:

MortgageCalculationServlet, MortgageCalculationService and

ObjectValueLookupRestService where MortgageCalculationServlet has a dependency to MortgageCalculationService
andMortgageCalculationService has a dependency to

ObjectValueLookupRestService.

The calculation has many combinations of input parameters and edge cases, so the JUnit coverage must be as high as
possible.

Which two strategies should the developer use to ensure testability of the application code?
(Choose two)
A. Use the standard OSGi @Reference annotation to wire the dependencies in application code

B. Use BundleContext.getServiceReference(...) and BundleContext.getService(...) in application code to look up for the
required services just before usage

C. Deploy a third party dependency injection container to wire dependencies more efficiently in application code
D. Use a mock framework to be able to create and inject mocks in the test code

E. Use static methodsto avoid boilerplate in application code

ANSWER: AD

QUESTION NO: 3
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How should a developer configure the replication agent to flush the dispatcher cache for a newlyactivated page?
A. Create a dispatcher flush agent in publish instance

B. Create a reverse replication agent on the author instance

C. Create a new replication agent and set transport URI to point to the dispatcher

D. Set the serialization type property of the defaultagent to dispatcher flush

ANSWER: A

QUESTION NO: 4

A developer creates the following code snippet to implement a simple polling importer to fetch stock prices from anexternal
source:

TRYA

paciags oo, 48508  LrAining. tEEe, corer

proparty = |

atloggar [getClaaail];

gan Bracks. o 8T/ EinaRes S quate feysbel 5

SlingRapositosy capo;
ddesEride

panlic vaid isportbate {final Frring sohems, [inel Steing davascuros, final Besowoss resoufos]
throws InpocrExoaption |
ey |

Fazaalsan parss’aco = noew Parssdsco )
frrimg lascTrads = parsselson,l =0 {8 OGRS ~dnradouras]
WritaTchapoaitacy (detalcurcs, las<Trads, resdurcs):

oarsh (Ewosprion = |
logger.acror|*Exceprion” e|;

privace oid writeToBepositoryi{final &cring stockfymibol, finsl String last¥rade, final Besouroe rescuros) Throws
FepcaitocyExcaprion {

sesslon ssesior= repo.login@ervioedmall

o Tepo . gesDefsolTorkepacs (F )|
szl ;

(parant . qutPeth{] +%/% + stockSymbal, “og:fage®,

Bicda parant = camourc
Hoda stockFegeSiods =

Hode lastTradellods = JooUtil.cos ath (atockPaguiods . getFathi]l + “flaztTcads”™, “ntiucetcuctared”,

sasaicnb )
lantTradekoda . secFropacty (LASTTRADE, laxtTradei;
sasalon, e |
razmicn. lagaut [y

The polling importer needs to fetch stock prices for a specific stock symbol and needs to be triggered every 5 minutes.

Which node structure should the developer create in CRX to make sure that the code shown is executed successfully?
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+/apps/aystemSconfig/com. adebe. training. core. core. StockDatalnporter [sling: 0
sgiConfig]

-B8CHEME FROPERTY: "atock™

-source: “ADBE™

—targat: ™/content®

-interval: 5

+/appafsystem/config/com. adobe. training. core. coze . 8tockDatalmporter [sling:
agiconfig]
-slinq tresourcaType: com.adobs. traini ng.core.core. StockDatalmporter
=8CHEME PROFERTY: “ADBE"™
-target: “/content”
—interval: §

+/ate/impartera/pallingf stack

i

-jermmixinTypes: [ "og:PollConfig”]
—souree: “estock:ADBE™

-interval: 300

-target: "“/content”

+/ete/ impoarters/palling/ atock
=slingirescurceType: com.adobs.training.core.core.StockDatalmporter
=stock: TADBE™
-interwal: 300

~target: “/ocontent”

A. Option A
B. Option B
C. Option C
D. Option D

ANSWER: C

QUESTION NO: 5

In OSGi bundle Activator.java is registered through a service Developlnfo.java

Developerinfo.java
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java
package com.adobe.training.core;

public interface DeveloperInfo ({

Activator.java

java
package com.adobe.training.oor=;
import org.osgl.ssrvios.componsnt.annotations. ¥
#Conpone=nt {==rvice=Days lopsrinfo.oclass)
public class Activator {
private final org.=1f4].logger logger = org.slfd].loggercPactary.getlogger (getClass{)];
BActivate
public wvoid scart() {
logger.info("ftdtiEsiiiiiiigaddntartadiisisaas b it dasa)
}
FD=activats
publie wveid stopi) |
logger.infa("#ididiRii it iddiictoppediiddfii bt iaaia")

Maven install generates an error during deployment. Refer to the error information below:

ITHFZ] === maven-bundla-pioginrl. i 0c:oondle [defwalt-bandle) fcralning.cors ---—

[ErmCR] Bundle com,adebertrafising.soreibundlesD.D. 1-SAFEHST ¢ Class com.adche.trafning.eors.hovivates is not assignable te spesified
suzvice com.osdoke.trminiog. coom.DevelopmrInds

[ermin] Ezzecial fousd in busdle safigurakbionm

frocey et e SRS, i e - i Wi o o NERER
| MFo}ATULD FRILGRE

| THFO]

[IHrQ] Taoeml timm: 5.572 =

ITHFRD] Findahad at: J0T9-0R<R3T1&:10c3S-08 700

|INFQ] Finsl Hamsr 2IHS I04E

[erran] reiled to sascute geal ceg.apsche.faliximaven-iundle-plugin:d. ). dibendle |default-bundle) on praisct Efaining. cocast
Erxoxisl found is ksundls configarstion ->[Help L]

Which action should the developer take to resolve the build error?
A. @Service annotation is missing in Developerinfo.java.
B. InterfaceDeveloperinfo does NOT have any method.

C. Activator class is NOT implementing Developerinfo interface.
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D. The required Maven repository for OSGi is missing.

ANSWER: C

QUESTION NO: 6

Which two methods could a developer use to obtain a Session without using a deprecated

API? (Choose two.)

A

RescurceResclverfactory resolverfactory:
if (null!=resclvezFactory) |
Map<8tring,Object> authesnticationInfo = new HashMap<String,3tring>();
authenticationInfo.put (“esername™, “reposervies”);
Seassion session - resclverFactory.getAdministrativeRescurceResclver (authen
ticationInfo, resoclverFactory.getFassworg( reposervice™)) .adaptTo({Session.class);

b

SlingRepository repo;
if (null != repo) [

Ammmion ssssion = repn,lnginﬂervin:eﬂnull, repn.gttﬂefnultﬂurk:pnl:e” 1
b

SlingRepoaitory repository;
if (null != repository) |
S8cosion session = repository.loeginfdmipistrative (“ocrx.default”);

b

RespurceRasolverFac COry reso lvarFactor ¥

if {null != resclverfactory) [
Respurcelssclver resclver = rescolverFact oEY - get3= rriceResgurcefiesolver {null)r
Session session = resslver.adaptTo(Session.class);

RescurceResclverfactory resclverFactory;
if (nulll=resclverPactory} |
Map<8tring,Object?> authenticaticnlnfoc = new HashMap<8tring,String>();
authenticationInfs.put ("usarnsme®, “admin®);
authenticaticnInfo.put ("password”, "admin®);
Seasion sessicon - resolverFactory.getAdministrativeRescurceResolver {authen
ticationInfo) .adeptTo{Sessicon.class);

b
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A. Option A
B. Option B
C. Option C
D. Option D

E. Option E

ANSWER: B D

QUESTION NO: 7

A developer is installing a content package with the package manager. The developer needs to restrict the approximate
number of nodes in a batch that is saved to persistent storage in one transaction.

How should the developer modify the number of transient nodes to be triggered until automatic saving?

A. AEM instances automatically modify the number of transient nodes based on the load balancing.

B. Modify the export package manifest header and copy the content package to AEM installation folder.

C. Select the option MergePreserve for the Access Control Handling drop-down in the Install Package dialog-box.

D. Change the value of Save Threshold in thelnstall Package dialog-box.

ANSWER: D
Explanation:

: https://helpx.adobe.com/ro/experience-manager/kt/sites/using/gettingstarted- wknd-tutorial-develop/part1.html

QUESTION NO: 8

A developer needs to implement a functionality that requires creating a Custom Workflow
Step.
Which two steps shouldthe developer take to start developing the custom behavior?

(Choose two)

A. Implement a Java class extending from class com.adobe.granite.workflow.exec.WorkflowProcess
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B. Create a Workflow component node of the Super Resource Type
"cg/workflow/components/model/process” under the folder /apps/components

C. Create a Workflow component node of the Super Resource Type
"cq/workflow/components/step" under the folder /etc/workflow/models

D. Implement a Java class with this method "public void process (Workltem item,
WorkflowSession wfsession) throws WorkflowException"

E. Implement a Java class implementing the interface com.adobe.granite.workflow.exec.WorkflowProcess

ANSWER: B E

QUESTION NO: 9

A developer is working on a complex project with multiple bundles. One bundle provides an

OSGiservice for other bundles.

Which two options are necessary to ensure that the other bundles can reference that OSGi service? (Choose two.)
A. The bundles consuming the service need to import the fully qualified name of the service interface.

B. Thebundle providing the service needs to contain an adequate SCR descriptor file.

C. The bundle providing the service needs to export the java package of the service

interface.
D. The bundle providing the service needs to contain a whitelist of allowed consumer bundles.

E. The service needs to correctly declare metatype information.

ANSWER: AC

QUESTION NO: 10

For each CRX node in the hierarchy, which actions can be configured using the user admin interface?
A. Read, Modify, Create, Delete, Read ACL, Edit ACL, Replicate

B. Read, Write, Read ACL, Edit ACL, Replicate

C. Read, Write, Delete, Edit ACL, Replicate
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D. Read, Modify, Create, Delete, Read ACL, Edit ACL

ANSWER: A

DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com


https://dumpsqueen.com/

